Central Coal Fields Limited , Dharbhanga House, Ranchi.
Entrance Test for CCL Ke Lal (2017-19 batch)
Time :3 Hrs

General Instructions:
1. All questions are compulsory and are of MCQ type.

2. There are 75 questions.
3. Choose the correct option and darken it on the OMR sheet.
4, Each question carries 3 marks.
5. For each correct answer 3 marks will be awarded and for every wrong answer 1 mark will be
deducted.
Set- Q
Section —A (Aptitude)
1. If in a code language MAC is written as PDF. What will be the code of JBR in the same
language?
MAC @1 afe PDF &' ove forar @ ot JBR &1 &9 awe forar smom?
(a) OFV (b) LDU
(c) NEV (d) MEU
2 If 2x1=81 , 3x2=278 , 2x5=8125 , then 1x3 is equal to
afe 2x1=81,3x2=278,2x5=8125,8 @9 1 x 3 &1 A9 &1 N7
(a) 127 (b) 271
(c) 126 (d) 129
- Choose the correct option from the given alternatives.
Acting:Theater:: Gambling : ?
“P B STE PI-AT 27
(a) Casino (b) Club
(c) Bar (d) Gymn
4, Find the value of ?
Q3 7 s
“?’ BT HE 913V |
(a) 84 (b) 91
(c) 99 (d) 101
> Find the missing number for the given alternative
15625, 4096, 729, 64, .......
AR e - 87
(a) 1 (b) 8
(c) 25 (d) 27
6. The following equation has become wrong due to wrong order of signs. Choose the correct
order of signs . 5+4+9=1]
RIgal @1 Tera 39 7 o 9 Ry gy ¥y Teia B Wi 2| WEl $H -4 87
(@ [+= 0=
(c) X -= (d) X+=
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13

16.

7

18.

19.

20.

Choose the best alternative for- An animal always has

U U H EH FAT BT & —
(a) Lungs (b) Skin
(c) Life ' (d) Heart

Section —B (Physics)

When a sound wave goes from one medium to another, the quantity that remain constant is .
(a) speed (b)  amplitude

(c) frequency (d) wavelength

o4 S T UH A F R A ude aelt & a B A ) Ry eraRafia
e 2 |

(a) =fa (b) waife fazemms (Tefeys)
(c) amgfe (d) 3

Slope of a velocity time graph gives

(a) the distance (b)  the displacement

(c) the acceleration (d) the speed

IT-HHT TG BT Tl (IH1E) T T 87

(a) =& (b) favemu=

(c) RO (d) ==

The velocity time graph of a body is parallel to the time axis .The body is

(a) at rest (b) having uniform acceleration
(c) having zero acceleration (d) having non uniform acceleration
TP TR T IT-HAG-UTS 37 B AR & | g A Rl qar

(a) fer (b) UFH wEF RO

(c) ¥ @mor (d) sraH @R

The numerical ratio of displacement to distance for a moving object is

(a) always less than 1 (b) always equal to 1
(c) always more than 1 (d) equal or less than 1
Mﬁ%mﬁqﬁ—%@mmwmqﬁﬁmaﬁmmﬁl
(a) uvwaom (b) wRT UF P wWx

(c) w29 v A wrer (d) 929 @ § W 1 vey
Inertia of a body in linear motion is measured by its

(a) velocity (b) momentum

(c) mass (d) none of the above
foell a¥g &1 Wiy TRy ¥ we fewd gRr AT oA &2

(a) am (b) =¥

(c) wa=m (d) =3 & 78

Which of the following can be explained on the basis of Newton's third law of motion.
(a) catching a cricket ball (b) high jump
(c) person jumping out of moving train (d) case of hose pipe  Set-Q, Page-3



28.

29

30.

3k

%ﬁra@ﬁﬁqﬁma%wmﬁmwgmmrmeo%%lwmaﬁ
9Tl H QA R GeAT BT A 40 TYS B O 8 |

(@) 3 (b) 2

3
(c) & () =
Pitch of the sound depends.
(a) wavelength (b) amplitude
(c) frequency (d) periodicity and regularity
& 1 e fw w® vk @war @2
(a) @37 23y (b) wEifs AT (Teieys)
(c) omgfea (d) =fa
Fleming's left hand rule is used in .
(a) DC motor (b) generator
(c) DC motor and generator both (d) none of these
ﬁwﬁﬁﬁmﬁﬁﬁwwaﬁmmﬁmmsﬁm%—
(a) <« AR (b) wex
(c) (a) @ (b) (d) = A 3 =&
Sound will not travel through.
(a) a solid (b) a liquid
(c) a gas (d) a vacuum
T 9 59 Aemw § @y 7fy 98 ey -
(@) < (b) =a
(c) W9 (d) fagfa

Area under a (v-t ) graph represents a physical quantity which has the unit

me&n—mmwmaﬂ?wwﬁﬁmgﬁemﬁ

2

(a) m (b) m

£y~ (d - ms’

If the number of turns in a coil are doubled then .

(a) magnetic field inside will increase (b) magnetic field will decrease
(c) remains unchanged (d) none of these

ﬁmﬁm@@sﬁﬁﬁﬁtﬁg@wm‘ra‘rwmﬁw—
(a) BUSHl B IR FB &5 @ 2 (b) B &5 "Hedr &
() g=on &5 sl e 2 (d) 7 9 31 =

The minimum time gap between two sounds to be heard distinctly must be.

(a) 0.1s {b) - 15
() 02s. d Is

A @ B g B G D Ry ww awe @ -

(a) 01 dFve (b) 015 AFTS
(c) o2 Apve (d) 197
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41.

42.

43.

44.

45,

46.

47,

48.

Which of the following remains unchanged on descending down a group in the Periodic table

(a) Valence electron (b) Atomic size

(c) Density (d) Metallic character

T W B & 30 F R o W esuRaffa war € 7

(a) 9o sorEEE (b) uIfda® smeER

(c) w7 (d) enfeas qor

Which of the following mixtures can not by separated by fractional distillation?

(a) Acetone and methyl alcohol (b) Chloroform and benzene
(c) Water (5%) and ethyl alcohol (95%) (d) Benzene and toluene

=1 7 & f fsror a1 Fractional distillation & arerT 58 @¢ wad g -
(@) wieH vd fAurge seaEe (b) FEARBE v I
(¢) < (5%) vd serder aromie (95%) (d) &0 g <fede

Which of the following is a heterogeneous mixture ?

(a) Dust free air (b) Brass

(c) lodized salt (d) Steel

T W B IR fsor @ —

(a) S 3% arg (b) s

(c) omuESs T (d) =

In Mendeleev’s Periodic Table, the properties of elernents are a periodic function of their
(a) Atomic size (b)  lonization energy
(c) Atomic mass (d) Atomic number
A8l o SR el T 07 e amadie BT g -

(a) U B IR (b) MRS St

() wH Y B geHE (d) T e

Which of the following represents most electropositive element?
ﬁwﬁ@ﬁamﬁmsﬁa@‘r—maﬁ%—

(a) Li (b) Be
(c) K {d)-. Ca

Which of the following has the shortest carbon - carbon bond length?

T W 50 C— C a1 g8 wa o9 & -

(a) C:H; (b) C;H,4
(c) CyH, (d) All has the same bond length.
The process of calcinations is used for
(a) Carbonate ore (b) Sulphide ore
(c) Nitrate ore (d) Halides
fhar fwas forg wainT 2rer @ -
(a) SFEMT R (b) wwTZE SrRE
(c) ¥1Ege I (d) zoEs s
Which of the following pairs will not exhibit diffusion ?
(a) Hydrogen,oxygen (b) Oxygen, water
(c) Salt, Sugar (d) Sugar , water
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56.

3.

38.

39,

60.

61.

10" (M) HCI &1 pH =¥ar & —
(a)-- 7 (b) 79 afs
(&) =3 () 7o am

Section —-D (Maths)

Some one is asked to take a number from 1 to 100, The probability that is a prime is
1 - aoowﬁ@mﬁﬁﬁwmﬁmwwrm(mﬁ)mmm
@Y WIRAEAT ST B |

6
25
13
50

(a)
(c)

(b)
(d)

Bl =

If two tangents inclined at an angle 60° are drawn to a circle of radius 3cm, then length of each
tangent is equal to

SWY%IWT%WWW?TWWWWWW?%WWWW
60°%|mwsf%@mﬁa%m§maﬁﬁm

(a) g\@cm (b) 6¢cm

(c) 3cm (d) 3v3em

If the points A(1,2), 0(0,0) and C (a, b) are collinear, then

af fagalt A = (1,2), 0 (0, 0) 3R C (a,b) ¥y & a9 a sl b3 4 Fa7 Hrey 27
(a) a=b (b) a=2b

(c) 2a=b (d) a=-b

The pair of equations 5x — 15y =8 and 3x — 9y = 353 has

(a)  One solution (b) two solutions

(c) infinitely many solutions (d) No Soluations.

5% = 15y =8 3l 3x — 9y =22 wliawr gl @ forg et & @ B w7 0 2
(@) UF & (b) A=

(c) ¥ &a (d) =% za a8

The lengths of the diagonals of a rhombus are 16¢m and 12cm. Then, the length of the side of
the rhombus is

gﬂ;ﬁﬂgﬂazﬁﬁmﬁaﬁmmz 16 T 3R 12 F B | 96 qon @ TS T
?

(@)  9cm (b)  10cm

(¢  8cm (d)  20cm

[f the distance between the points (2, -2) and (-1, x) is S, one of the values of x is
aﬁﬁrﬁgaﬁ(z,—z)aﬁ?(—l,x)a%aﬁﬁaﬂiﬁsé, X BT JF qaigd —

@ -2 (B2

(© -l \ o -1
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70.

i

12

73

74.

75.

Area of the largest triangle that can be inscribed in a semi-circle of radius r units is

r 3@ Broar & s @ ex W T WaW 98 RS &1 &Eme S $ifg —
(@)  r’squnits (b) % r? sq units

(c) 217 sq units (d) V2 ¥ sq units

The volume of the largest right circular cone thet can be cut out from a cube of edge 4.2cm is
42 ¥ Tl 9Tt B9 ¥ B T e I W gAig vq B AT S DI |

(@) 92cm’ (b)  77.6em’

(c)  58.2cm’ (d)  19.4cm’

If two solid hemispheres of same base radius r are joined together along their bases, then
curved surface area of this new solid is

2 o o Ml ST BT r @ 97 990 UR @ WY WISl Ol & | 39 YeR 9§ U
S BT 95 I S Doy |

(@) A4mr? (b)  6mr?
€y - 3nF? (d) 8nr?
Inan APifa=-7.2,d=3.6,a,=7.2,thennis
G Gy 3
) 4 d 5
et TR 2oft & folw n &1 A9 w® A, AR a=-7.2, =3.6,an=7.2?
(a) - 1 (b) 3
(c) 4 d s

The sum of first five multiples of 3 is

W (3) @& Yo U TSl (Fel Yed) @ AT —

(@) 45 b) 55
(c) 65 d 75

If angle between two radii of a circle is 130°, the angle between the tangents at the ends of the
radii is:

afe el ga & <1 Proari @ &g @ s 130° & @9 weifl @ §a @1 B SRy -
(@  90° By 50
© 70° (d  40°

e 3k s sk o ook ok okok ok dkok kR
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